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Life Science 

LSE-06 : DEVELOPMENTAL BIOLOGY—

PLANTS AND ANIMALS 

Time : 2 Hour  Maximum Marks : 50 

Note : Use separate answer sheets for Part I and 

Part II. Be brief and precise in your 

answers. Draw neat and labelled 

diagrams wherever necessary.  

 Part—I (Marks : 25) 

(Plant Development Biology) 

Note : (i)  Question No. 1 is compulsory. 

 (ii)  Attempt any four questions from 

Question Nos. 2 to 7.  

 (iii) All questions carry equal marks. 
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1.  (a) Fill in the blanks : 
 

 
×5=2

 

 
 

(i) A balance between ......... and ......... 

hormone concentration regulates 

apical dominance. 

(ii) .......... are lens-shaped areas of 

periderm involved in gas exchange. 

(iii) ............. is an opening at the apical 

end of ovule for the entry of 

pollentube.  

(iv) The phenomenon of induction of 

flowering by exposure to cold 

temperature is known as ......... 

(v) ......... is the ephemeral part of 

young embryo attached to embryo 

sac wall and involved in supply of 

nutrition and growth regulators to 

embryo. 
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(b) Write the appropriate technical term for 

the following : 
 

 
×5=2

 

 
 

(i) Development of fruit without 

fertilization. 

(ii) Type of embryo sac developed from 

chalazal-most megaspore. 

(iii) Formation of more than four spores 

from one microspore mother cell. 

(iv) Growth movement of plants in 

response to touch/contact stimulus. 

(v) The property of cells that enables 

them to form complete plants 

under suitable conditions.   

2. Write short notes on any two of the  

following :  2
 

 
×2=5 

(a) Seed dispersal by abiotic agents 

(b) Recurrent type of apomixis 

(c) Vascular cambium 
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(d) Physiological role of gibberellins in 

plant growth and development 

3. Define any five of the following : 1×5=5 

(a) Amoeboid tapetum 

(b) Central cell 

(c) Composite endosperm 

(d) Senescence 

(e) Cork 

(f) Somatic embryogenesis 

4. Write down important  differences between 

any two of the following : 2
 

 
×2=5 

(a) Vegetative cell and generative cell of 

pollengrain 

(b) Nuclear and cellular type of endosperm 

development 

(c) Heartwood and Sapwood 

(d) Somatic hybridization and cybridization 
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5. (a) What is the biological significance of 

sexual incompatibility ? Discuss any 

two methods to overcome gametophytic 

self-incompatibility. 2
 

 
 

(b) Describe any one type of anomalous 

secondary growth in stem of 

dicotyledons. 2
 

 
 

6. What is pollination ? Write the advantages 

and disadvantages of cross-pollination and 

self-pollination. 1+4 

7. Write a detailed note on any two 

applications of tissue culture. 5 
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 Part—II (Marks : 25) 

(Animal Development Biology) 

Note : (i) Question No. 8 is compulsory. 

 (ii)   Attempt any four questions from 

Question Nos. 9 to 14. 

8. Fill in the blanks : 5×1=5 

(a) During multiplication phase of 

spermatogenesis, the stem cells divide 

by mitosis to give rise to ............ 

(b) The amount of ............ determines the 

structure and size of egg as well as the 

size of resultant blastomeres. 

(c) ........... refers to the directed movement 

of cells in response to concentration 

gradient of a chemical factor in solution. 

(d) The process of cell fate determination 

by transmission of signals between 

blastomeres is referred to as ............. . 
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(e) In ............, the part which is 

regenerated is very different from the 

one which is lost. 

9. Explain the different types of sexual 

reproduction in protozoans. 5  

10. Explain the role of cytoskeletal structures in 

cell movement. 5 

11. Describe the role of mesoderm and ectoderm 

in limb morphogenesis. Enlist the 

experiments which established that the 

presumptive limb mesoderm is essential for 

limb development. 5 

12. Describe the process of metamorphosis in 

urodeles.   5 

13.  Describe the different types of regeneration 

that occur in animals. 5 

14. Write short notes on any two of the 

following :  2×2
 

 
=5 

(a) Factors governing growth 

(b) Stages of carcinogenesis 

(c) Structure of the sperm 

(d) Neurulation in chick 
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foKku Lukrd (ch&,l- lh-) 

l=kar ijh{kk  

twu] 2025 

,y-,l-bZ-&06 % ifjo¼Zu thofoKkuµouLifr 

ifjo¼Zu vkSj izk.kh ifjo¼Zu 

le; % 2 ?k.Vk   vf/kdre vad % 50  

uksV % Hkkx I vkSj Hkkx II ds fy, vyx&vyx mÙkj&iqfLrdkvksa 

dk mi;ksx dhft,A vkids mÙkj laf{kIr rFkk lqLi"V gksus 

pkfg,A tgk¡ vko';d gks] ogk¡ LoPN ,oa ukekafdr vkjs[k 

cukb,A 

 HkkxµI (vad % 25) 

(ifjo¼Zu thofoKku&ouLifr ifjo¼Zu) 

uksV % (i) iz'u la[;k 1 vfuok;Z gSA 

 (ii) iz'u la[;k 2 ls 7 rd ls fdUgha pkj iz'uksa ds mÙkj 

nhft,A 

 (iii) lHkh iz'uksa ds vad leku gSaA  
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1- (d) fjDr LFkkuksa dks Hkfj, % 
 

 
×5=2

 

 
 

 (i) 
------------

 vkSj 
-------------

 gkWeksZu dh lkanzrk ds chp 

larqyu 'kh"kZ izHkkfork dks fu;af=r djrk gSA 

(ii) 
--------------

 ifjRod~ (isjhMeZ) ds ysUlkdkj {ks= 

gSa tks xSl fofue; esa Hkkxhnkjh djrs gSaA 

(iii) 
------------

 chtk.M ds 'kh"kZ fljs ij ijkx&ufydk 

ds izos'k ds fy, ,d fNnz gksrk gSA 

(iv) 'khr rkieku ds fy, mn~Hkklu }kjk iq"iu ds 

izsj.k dh izfØ;k 
-----------------

 dgykrh gSA 

(v) 
--------------

 Hkzw.kdks'k dh fHkfÙk ls tqM+k r#.k Hkzw.k 

dk ,d vLFkk;h Hkkx gksrk gS vkSj Hkzw.k esa 

iks"kdksa dh vkSj o`f¼ fu;a=dksa dh vkiwfrZ esa 

Hkkxhnkjh djrk gSA 

([k) fuEufyf[kr ds fy, mi;qDr rduhdh 'kCn dks 

fyf[k, %  
 

 
×5=2

 

 
 

 (i) fu"kspu ds cxSj Qy dk fodkl 
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(ii) dSyktk@fuHkkx dh vksj ds lcls utnhdh 

xq#chtk.kq (esxkLiksj) ls fodflr gksus okys 

Hkzw.kdks'k dk izdkjA 

(iii) ,d y?kqchtk.kq (ekbØksLiksj) ekr` dksf'kdk ls 

pkj ls vf/kd chtk.kqvksa dk cuukA 

(iv) Li'kZ@laidZ mn~nhiu dh vuqfØ;k esa ikni esa 

gksus okyk o`f¼ lapyuA 

(v) dksf'kdkvksa dk og xq.k tks mudks mi;qDr 

fLFkfr;ksa esa iw.kZ ikni ds :i esa fodflr gksus 

dks laHko cukrk gSA 

2- fuEufyf[kr esa ls fdUgha nks ij y?kq fVIif.k;k¡ fyf[k, % 

2
 

 
×2=5 

(v) vtSfod deZdksa }kjk cht izdh.kZu 

(c) vkorhZ izdkj dk vlaxtuu (,iksfefDll)   

(l) laoguh dSfEc;e@,/kk 

(n) ikni o`f¼ vkSj fodkl esa ftcjSfyuksa dh Hkwfedk 
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3- fuEufyf[kr esa ls fdUgha ik¡p dks ifjHkkf"kr dhft, %  

1×5=5 

(v) vehckHk VsihVe 

(c) e/;@dsanzh; dksf'kdk 

(l) la;qDr Hkzw.kiks"k (,.MksLieZ) 

(n) th.kZrk 

(;) dkWdZ@dkx 

(j) dkf;d Hkzw.kksn~Hko 

4- fuEufyf[kr esa ls fdUgha nks ds chp izeq[k vUrjksa dks 

fyf[k, %   2
 

 
×2=5 

(v) ijkxd.k dh dkf;d dksf'kdk vkSj tuu dksf'kdk 

(c) dsanzdh; vkSj dksf'kdh; izdkj dk Hkzw.kiks"k fodkl 

(l) var%dk"B (gkVZoqM) vkSj jlnk# (lSioqM) 

(n) dkf;d ladj.k vkSj dksf'kdknzO; ladj.k 
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5- (d) ySafxd vfu"ksP;rk dk D;k tSfod egRo gS \ 

;qXedksn~fHknh Lo&vfu"ksP;rk dks nwj djus dh fdUgha 

nks fof/k;ksa dk o.kZu dhft,A 2
 

 
  

([k) f}chti=h ikniksa ds rus esa gksus okyh fdlh ,d 

izdkj dh vlkekU; f}rh;d o`f¼ dk o.kZu dhft,A 

2
 

 
  

6- ijkx.k D;k gS \ ijijkx.k vkSj Loijkx.k ds ykHk vkSj 

gkfu;ksa dks fyf[k,A 1$4 

7- Ård lao/kZu ds fdUgha nks vuqiz;ksxksa ij foLr`r fVIi.kh 

fyf[k,A   5 
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 HkkxµII (vad % 25) 

(ifjo¼Zu thofoKku&izk.kh ifjo¼Zu) 

uksV % (i) iz'u la[;k 8 vfuok;Z gSA 

 (ii) iz'u la[;k 9 ls 14 rd ls fdUgha pkj iz'uksa ds 

mÙkj nhft,A  

8- fjDr LFkkuksa dks Hkfj, % 5×1=5 

(d) 'kqØk.kqtuu dh xq.ku voLFkk esa LVse dksf'kdk,¡ 

lelw=.k }kjk foHkktu djds 
------------

 dks cukrh gSaA 

([k) 
---------------

 dh ek=k vaM dh lajpuk vkSj vkeki rFkk 

cuus okys dksjd[kaMksa (CykLVksfe;j) ds vkeki dk 

fu/kkZj.k djrh gSA 

(x) 
------------

 ls vfHkizk; fdlh foy;u esa jklk;fud 

dkjd ds lkanzrk foHko dh vuqfØ;k esa dksf'kdkvksa 

dh funsZf'kr xfr ls gSA 



 [ 14 ]  LSE–06 

A–196/LSE–06 

(?k) dksjd[kaMksa ds chp ladsrksa ds lapj.k }kjk dksf'kdk 

dh fu;fr ds fu/kkZj.k dh izfØ;k dks 
-------------

 dgrs 

gSaA 

(³) 
--------------

 esa] iqutZfur gksus okyk Hkkx] yqIr gq, Hkkx ls 

dkQh fHkUu gksrk gSA 

9- izksVkstksvkbZ thoksa esa fofHkUu izdkj ds ySafxd tuu dk 

o.kZu dhft,A  5 

10- dksf'kdh; lapyu esa dksf'kdk iatj lajpukvksa dh Hkwfedk 

dk o.kZu dhft,A 5 

11- ikn lajpuk fodkl esa ckáRopk rFkk e/;Ropk dh 

Hkwfedk dk o.kZu dhft,A mu ijh{k.kksa dks lwphc¼ 

dhft, ftuls ;g fl¼ gqvk fd laHkkO; ikn e/; Ropk 

ikn&fodkl izfØ;k ds fy, vR;ar vko';d gSA 5 

12- ;wjksMsyk tarqvksa esa dk;karj.k ds izØe dk o.kZu dhft,A 5 

13- tarqvksa esa gksus okys iqutZuu ds fofHkUu izdkjksa dk o.kZu 

dhft,A   5 
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14- fuEufyf[kr esa ls fdUgha nks ij y?kq fVIif.k;k¡ fyf[k, % 

2×2
 

 
=5  

(d) o`f¼ dks fu;af=r djus okys dkjd 

([k) dSUljksRifÙk ds fofHkUu pj.k 

(x) 'kqØk.kq dh lajpuk 

(?k) pwtksa esa raf=dkHkou 

× × × × × 

 

 

 

 

 

 

 

 

 

 


